Economics: The Basics, 2e

Study Guide: Chapter 9

Learning Objectives

LO9-1 Explain the benefits of economic growth.
LO9-2 Calculate the economic growth rate.
LO9-3 Discuss the short-term and long-term change in living standards and 
calculate real GDP per capita.
LO9-4 List the forces driving economic growth.
LO9-5 Explain the role of government in economic growth.
LO9-6 Discuss the history of U.S. productivity growth.
Outline

· The Significance of Growth
· Improved Standards of Living

· Growth has allowed most people in the US to have modern plumbing facilities, whereas 60 years ago, that was only true for about 50% of the population.

· Infant mortality rates have fallen due to better prenatal and medical care brought about by growth.

· The Production Possibility Frontier (PPF)

· The PPF is the all the combinations of different goods and services that the economy is capable of producing at a particular time.

· If the economy grows, the PPF shifts away from the origin, meaning we can have more of all goods and services.

· Growth vs. a Zero-Sum Economy
· If there is no growth, you have a zero-sum economy.

· A zero-sum economy is one in which you need to produce less of something if you want to produce more of something else.

· Graphically, a zero-sum economy is one where we move along the PPF and trade one good for another. 

· Growth does not necessarily mean that people are happier.
· Measuring Growth
· Economic Growth (or real GDP growth) is equal to the growth in GDP, adjusted for inflation.
· Real GDP is the value of goods and services, measured at constant prices.

· Nominal GDP is the value of goods and services, measured at current prices.
· An increase in real GDP does NOT mean that all sectors of the economy are growing; it only means that, on average, we have produced more than before.
· Increase in Living Standards is measured by real GDP per capita (real GDP divided by the population size); this tells us, on average, how much output each person receives if it is divided evenly.
· What Drives Growth?

· Aggregate Production Function takes inputs and turns them into national output (GDP). Forces that drive economic growth are:
· Increases in labor
· Increases in human capital (education & skills)

· Investment in physical capital (better equipment)

· Increases in raw materials

· Increases in knowledge (learning to do something new)
· Government can both harm and aid growth.
· Meddlesome laws can lower productivity, while policies such as compulsory education can help.
· Productivity is real GDP divided by the number of hours worked by all workers.
· Growth rate of productivity is the percentage increase in productivity over a year.
· The History of U.S. Productivity Growth

· Golden Age (1947–1973): saw productivity grow an average of 2.8 percent per year.
· Productivity slowdown (1973–1995): saw an end of rapid productivity growth from the Golden Age. Four theories explaining the slowdown are:
· Baby boomers entered the work force in large numbers; they were young, inexperienced, and not highly productive.
· Environmental regulations passed during the late 1960s and early 1970s reduced growth by creating burdensome requirements on business.
· Lack of savings and investment by U.S. workers held back productivity.
· Lack of innovation from business churning out the same products reduced productivity.
· Information revolution and globalization (1995–2010): saw a rebound in productivity growth to 2.7 percent per year.
Common Myths & Common Problems

· Life was better in the past than it is today.

· We often hear this nostalgic comment from our parents or grandparents (some of us hear this from our retro friends too). They argue that life was more idyllic, life was more peaceful, and life was less complicated in the past. If the statement is regarding the standard of living in the past, then it’s incorrect. 

· About half of the homes in America had modern plumbing in 1940! Imagine not being able to take a hot bath or shower; imagine having to walk to an outhouse to use the restroom at night. Is that really better than what we have today? Was it better when mortality rates were higher? Was it better when more newborn children died every year? Was it better when we didn’t have antibiotics? Economic growth has provided all those things we take for granted today which did not exist 60 years ago.

· The proper question should be whether we are “happier” today. That is left to the eye of the beholder.
· We can always produce more of all goods in our economy.

· The only way this statement is correct is if we have economic growth. In the absence of economic growth, we will need to reduce the production of some goods in order to increase the production of other goods. For example, our economy produces Duff and Squishees. Absent economic growth, the only way to increase Duff production is to decrease Squishee production. See the graph below:
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Real World Applications from an Economist’s Perspective

Economic growth is an important subject on many people’s minds. Economic growth is one of the best strategies to alleviate poverty and suffering on Earth. However, there is debate over the appropriate role the government needs to play in fostering growth. On one extreme are those who argue that the government should play a large role, and on the other are those who argue the government should play no role. As you have learned, the government can play both beneficial and harmful roles in economic growth.

The government can aid in the promotion of economic growth. The government is able to provide essential public goods such as police services and fire services. They can also provide (or subsidize) services that have positive network externalities, such as education. These things help foster growth because they improve human capital, make it easier for people to engage in trade, and increase physical capital. The enforcement of law, the establishment of legal property rights, and the legal enforcement of contracts aid in trade because they help establish the rules of trade. Education helps improve human capital and allows people to become more productive.

However, the government can deter economic growth as well. Government intervention can deter growth if the policies make it more difficult or costly to do business. Unnecessary rules and regulations make it more difficult for businesses to start up and expand. For example, increasing the difficultly of starting up a new business by increasing the waiting period for a permit and increasing the amount of paperwork that needs to be completed deters entrepreneurs from entering the market and creating new businesses. Another example is lawsuits where the courts award enormous sums of money for product liability (where someone was harmed by a product); this increases the cost of doing business and slows growth. Businesses, instead of making new products or hiring more people, now have to spend their resources on providing warning labels on products or hiring more employees to help deal with the increase in paperwork and government bureaucracy. 

Now it’s Your Turn
1.  If you are interested in economic growth numbers and other data that impacts economic growth, you can visit the following sites. For Economic growth data, visit the World Bank’s website at: www.worldbank.org/data. For examining the ease of doing business in other nations, visit this World Bank-affiliated site at: http://www.doingbusiness.org/. For those interested in examining economic freedom (which tends to be correlated with growth) visit the Heritage Foundation’s website at: http://www.heritage.org/Index/.

2.  If a nation produces roads and education, in the absence of economic growth, what sacrifices must be made to increase the production of education? Is it possible to have both better roads and more education? If so, how? Please graph your answer.
Practice Quiz

1. One sign of economic growth is:

a. Higher infant mortality rates.

b. Lower infant mortality rates.

c. A decline in the Production Possibilities Frontier.

d. A decrease in the standard of living.

2. The Production Possibilities Frontier:

a. Shifts out when there is a decline in economic growth.

b. Shifts in when there is an increase in economic growth.

c. Is the combination of all the goods and services a nation can produce.

d. Is the combination of all the goods and services a nation consumes.

3. In a zero-sum economy:

a. One can only move along the PPF.

b. There is an outward shift of the PPF.

c. There is an inward shift of the PPF.

d. There is a clockwise rotation of the PPF.

4. Economic growth and happiness are the same.

a. True, because more is better.

b. True, because few infants die.

c. False, recent studies indicate that people value money and happiness differently.

d. False, recent studies indicate that people want more things.

5.  Which situation will more likely lead to growth?

a. When there has been a reduction of physical capital in a nation

b. When recent college graduates leave the nation to pursue jobs elsewhere

c. When a disease kills half the population

d. When new oil reserves are discovered

6. Real GDP is:

a. Physical GDP.

b. The value of goods and services.

c. The value of goods and services, measured at constant prices.

d. Nominal GDP minus capital.

7. An increase in Real GDP means all sectors of the economy are growing.

a. True, because in order to grow, everyone must be better off.

b. True, because everyone is more productive.

c. False, because only Nominal GDP matters.

d. False, because on average, more sectors expanded than contracted.

8. Which is NOT a driving force of economic growth?

a. Increases in labor

b. Increases in human capital

c. Increases in raw materials

d. Increases in self-esteem

9. In the event of a nuclear holocaust, what would happen to the PPF?

a. It would stay the same and there would be a change in the position on the curve

b. It would increase and shift out

c. It would decrease and shift in

d. Production would not be affected

10. Increases in living standards is measured by:

a. The Happiness Index.

b. Real GDP per Capita.

c. Nominal GDP per Capita.

d. The Gini Coefficient.

Answer Key

1. B

2. C

3. A

4. C

5. D

6. C

7. D

8. D

9. C

10. B

